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For each question from 1 fo 30, four options are given. One of them is the correct answer.
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Answer Sheet.

Living Things

v ! ! v

Monera Protista
g ! b v

Bacteria Amoeba Bird's Nest fern Moulds : Slug 1

What could X, Y and ‘7" be ?

ny 1 T

X Y Z
' [1) Plants Fungi Animals
(2} Fungi - Plants Animals
(3) Flowe::mg Non-Flowering Arimals
Planis planis
(4) Animals ' Plants Fungi
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Objects

torch

(A)

Y

electric iron

- (B)

vV

electnc drili

(C)

The above objects produce some forms of energy when they are being used.

Which one of the following fists is grouped in the same way as those above ?

A B C
(1) saw hairdryer juicer
{2} bulb toaster’ cake mixer
electric rice
G lamp oven cooker
(4) radio kettle blender
3. Which of the following correctly classifies the activities below ?
® @ [rom]
| i i : |
Pull Push Puli Push
. I | i I
Tapping Brushing Jogging Turning
the feet the teeth a door kag
(3) I Force (4) Force
: |
Lo [ewn ]
Drinking Pressing Playing Cutting with I
ifom a straw a button the piano a sciSsSors




Which of the following forces were in action when Hin Meng dragged the box.

.4_—_

gk }

ﬂ —
A Pull '
B Friction
C Gravity-
(1 A only (2} A and 8 only
(3) B and C oniy (4y A, BandC

Which of the following make up the environment ?

A Type of soil in the surroundings.

B Amount of humidity in the surroundings.

C Organisms living in the surroundings.

(1) Conly (2) AandB only

(3) AandConly ' 4y A BandC

The graph below shows the effect of temberature of the environment on the
populations of 4 different organisms.

-\
Population P D
Ve
Ve
/ "
s c
e B .
- - /
\ AL
40° Temperature

Which or %amsm(s } wilt survivé betterif the temperature of the environment is
above 4

(1) Aonly (2) D oniy
(3} BandD only (4} B, CandD only

4t




A group of pupils conducted an experiment as shown in the diagram below.

sun Clear plastic covers with holes

L N

mudskipper 4

fresh mud from swamp * mud taken from swamp that
had been baked in oven

What were they trying to find out ?

(N To find out if the amount of air affects the mudskipper.

(2)  To find out if the mudskipper can live away from its natural habilat.

(3) To find out if the amount of light affects the survival of the mudskipper.

{4) To find out if the amount of water in the mud affects the survival of the
mudskipper.

A plant was placed in a bottie with some moist gardenﬁéoi{ as shown below. it was
observed that the plant could survive in this enctosed environment.

sealed bottle

Which of the following reasons explain why after 2 weeks the plant could still
survive?

A There was sufficient air inside the botile.

B There was sufficient water inside the boltie.
C The plant could camry out photosynthesis.
D The garden soil provided food for the ptant.

(1) CandD only (2) Aard B only
(3) A,BzndConly (4) B, CandD only

Wy



9. Ali put an equal number of goidfish in two identical fish bowls namely A and B. He
fed the fish with equal amount of food. After a few days, he noticed that the
goldfish in Bowl A were swimming near the waler surface.

) : Air pump

———r /

(‘g@ J o5 /

Bowi A Bow! B

What can he conclude from this expériment ?

(1) Goldfish need food fo survive.

(2) Goldfish need oxygen to survive.

(3) Goldfish reproduce only at the water surface.

(4) Goldfish need plenty of sunliaht to keep themselves warm because they are
cold-blooded.

10.  Nicole went hiking with her father. She saw a rotting log and bent down to take a
closerlook. She made a few statements about the rotting log.
Which of the following statement(s) about the rotting log isfarg true ?

A The rofting fog is a living thing. .
B The rotting log is a non-living thing.

C The rotting log could no fonger grow.

D The rotting log needs food and water to survive.
(1) B only {2J BandC only

3) A and D only (4) B,CandDonly

11. Which of the following method is the carrect way to test for the Kardness, of Object
X? :

(1) Bend Object X.

{2) Use the tip of an ircn nait to scratch Object X and measure the thickness of
each marking made.

(3) Put Object X in water for a few minutes, squeezed the object and weigh the
amount of water collected. '

(4; Rest each end of Object X to a table leaving the middie portion of it in mid-
afr, add weights to the middle portion and measuring the amount of weights
needed before it breaks.




Y
Yes ,| Cracks when es @
dropped 7

No

The flowchart shows the physical properties of three materials, A, B and C. Which
physical property is best represented by X such that materials B and C are suitabte
for making the lens of the spectacles ?

(1) Strong (2) Flexible
(3) Transparent (4)  Gets wet easily

13.

O Y -~
Wat]t}r vapﬂour Q\T \)Eﬁu B

I rain | i

land \\

What is the main source of energy in the water cycle ?

(1) sea 2y land
(3) sun (4) clouds

yit



14 Ball 1 and Ball 2 were of the same mass. When Bali 1 was released, Ball 1 will hit
Ball 2 at point X. Both balls were then allowed to continue their motions until they

stopped.

Which one of the following statements is true ?

(1) Ball 2 gained kinetic energy when it moved lowards point Y.

(2) Ball 2 gained potential energy when it moved towards point Y.

) Balt 1 transferred all its potential energy to Ball 2 when the two balls first
come into contact. '

4) Bail 1 transferred all its kinelic energy to Ball 2 when the two balls first come
into contact. ‘




15.  Study the circuit diagram carefully.

magnet \

steel rod

Which one of the following cotrectly states the main energy change when the
circuit is closed 7

. Chemical . '
(1) Eletical o Dotenial —  Keie . Sou
9 energy energy energy
Chemical o o
(2) potential . Electrical e Kinetic Sound
energy energy energy energy
Chemi .
(3) pt(;?er?];:(l;aé;[ N Electrical —— Heal Sound
energy energy energy energy
(4) Kineic =~  Sound Electrical , Heat
energy enerqgy energy energy

L



16.

The picture below shows some children playing a game with two tennis balls.

Each child roils the tennis balls atong the floor so that they collide.

tenr_ﬁs baf

Which statement(s) is/are the effect of the force con the ball observed from the
above activity ?

(A)
(B)
(C)
(B)

(1)
(3)

The balt stops moving.

The shape of the ball is changed.
The speed of the ball is changed.
The direction of the ball is changed.

D only (2) AandC only
C and D only {(4) A, C and D only

57




17.

Which of the foliowing(s) show(s) the effect of a force ?

A

 ——

NOANNNNN

Py

(1) A-enly (2) AandB only
{3) B andC only (4 A,Band C - -

e



18.

19.

The diagrams below show how forces are used.

In which of the above activities will friction be invoived 2

(1) A ang D only (2) 8 and C only
(3) A, BandD - (4) A,B,CandD

Which of the following is/are example(s) of forces at work in{ nature|?

A B

Volcano erupting

Waterfall over a mountain oliff

(1) A only (2)  AandB only
(3) B and C only (4) A, Band C

i1

49




20.

21.

Study the diagram below.

ping pong ball @{//
. k\w.].

Diagram A Diagram B

air blown into
PR

mouth piece

Which of the following statement(s) explained why the ping pong ball is able to
hover in midair when air is blown into the straw?

(A)  The warm air exhaled from the mouth heated the ping pong ball and caused

it to rise.

(B)  The force exerted by the moving air is able to support the weight of the ping
pong ball.

(C)  The gravitational force acting on the ping pong ball is greater than the push
acting on it.

(1) Conly 2 B only

(3) B and C only {4) A,Band C

The picture below shows some organisms in an environment.

butterfly

aphids

Which of the foiiowing statement is true 7

(1)  The aphids get food from the piant sap.

(2)  The aphids spread diseases to the plant.

(3) The butterdly is the predator of the aphids.
{4y  The butterfly helps the aphids to reproduce.. .

12

599



23.

The graph below shows the amount of water in a pond over a period of time.

Amiount of water a

I

o~

Y
o

Time

What would happen to the fishes fiving in the pond?

(1) They would migrate to another pond.

(2) The number of fishes would increase.

{3} The number of fishes would decrease.

(4) = They would adapt to the new living environment.

Bird X migrates from Alaska to South America during certain periods of the year.
These birds feed on small insects and berries. The graph below shows how the
number of these birds changes in Alaska over a year.

Number
of birds

-~

’
i

DA A~

Time in months

Which graph shows how the number of insects in Alaska changes over the year ?

(1)
Number
of insects
Time'in months
(3)
Number
of insects

Ty

Time in months

@

Number
of insects

—

Time in months

(4)
Number
of insects

j

Time in months

13 -
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24.  Which of the following statement shows that forest lires results it unfavourable
condition in an environment ?

(1 The¢ remaining animals will have more food to eat.

(2) They kill predators and the number of prey increases.

(3) They kill animals and make these animals reproduce faster-

(4) They burn the plants and trees and the remaining plants are unabie to
survive because of the soot.

25.  Some flies were kept in a container with sufficient food and water. The number of
the flies was recorded over a period of time in a graph. A frog was infroduced at
some paint in time.

Number of 1
flies

Time
A B C D

From the graph, at which point of time was the frog introduced?
(1) A (2) B
3 C : 4 D

26. Some pupils observed that more birds visited the field soon after the grass is
“mowed. They then made the following comments :

Ali The birds are feeding on the cut grass since it is now easter for
them to swallow.
Ma The birds are eating the insects that have been killed during the
Y mowing.
Since the grass is shorter now, the insects are exposed, making it
Muthu N it
easier for the birds to prey on them.
Joe After the field is mowed, the earthworms are attracted to the
brighter soil surface, this is what attracted the birds.

~ Whose explanation(s) isfare correct?

(1 Ali only {2y  Muthu only
{3}y Mary and Joe only 4y  Joe and Muthu only

i4

34



7.  Four different types of ﬁving things are given below.

Moss Cat Bactena Bracket fungus

Which one of the following shows the correct classification of the living things listed

above ?
(1) Plant Animal Fungi
Bacieria
Moss Cat Bracket fungus .
(2) Piant Animal Fungi
Bracket fungus Cat . Moss
Bacteria
(3) Piant Animal Fungi Micro-organism
Bracket fungus Cat Moss Bacteria
(4) Piant Animai Fuagi Micro-organism
Moss Cat Bracket fungus Bacternia

28. An experiment was carried out using four different materials. of equat lengths. He
placed one corner of each material into a dish with coloured water. The diagram
shows what he observed at the end of the exoeriment.

coloured water

Which one of the following correctly represents mateﬁa_ls A,B,Cand D7

A i ’ B C D
&) Cloth Tissue paper Cardboard Aluminium foil
(2) Cardboard Tissue paper Cloth Aluminium foit _
(3) Cardboard | Afuminium foil Cloth Tissue paper
(4) Tissue paper Cloth Aluminium foil Cardboard
15

53




29.

The diagram below shows the incamplete life cycles of 2 different insects.

egg €gg
" v \ / \
l P Y Q lang R D S
/

~

pupa

Which of the following correctly matches P, Q, R and S in the 2 life cycles 7

30.

(P) Q) (R) (S)
(1) Bee Larva Grasshopper Nymph
(2) ' Housefly Caterpillar Dragonfly Nymph
(3) Mosquito Wriggler Cockroach Nymph
(4) Mealworm } Maggot Damselfly Nymph

The diagram below shows the cut stem of a plant which had been placed in
coloured water for a day.

Which part of the plant is responsible for transporﬁnq walter to other parfs of the
plant 7 ) ‘

(1. P 2 Q
@ R @ s

16
ox
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Ciass
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- Primary 6 / ' '
40

Secticn B: (40marks)

Write your answers to question 31 to 46. . _ _

The number of marks available is shown in brackets [ ] at the end of each question or part
question.

31.

Study the classification chart beiow ca-re.futiy‘

r (A) Living Things j

A

(B} Plants _ (C) Animals

 E— Y I ¥

(@)
(b)
(c)
@

_ Releases spores from spore bags

(D} Flowering (E) Non-Flowering ' 1 (F) Vertebfates ‘ (G) Invertebrates

‘Write the letter (A, B, C, D, E, F or G) beside the statement which best describes an

organism in the respective groups. (2m)

Contains chlorophyll to make food

Without backbones

Obtains energy only from other organisms

Score

17
%




32.

(a)

(b)

The diagram below (not drawn to scale) shows how a pile driver works.

At stage A,-what energy did the ram possess before it was released ? {im)

Al stage B, what energy did the ram possess when the ram was falling ? (1m)

What must be done to the ram to increase the type of energy mentioned in
part (b} ? (1m)

Score

18

Sb



33. The graph below shows the relationship between the extension of a spnng and
the mass attached to the spring.

14

-
N

Y
=

A

Extenslonof Spring
(cm)

i

T T

10 20 30 40 50

S N A D 0

Mass {q)

(@) The{lengthjof the spring was 10 em when a 20g mass was hung on to the spring.
Whatisthe original length of the spring ? (1m)

(b)  With the data given above, complete the graph below to show how the{lehgth of a
spring is affected by the mass attached to the spring. (1m)

20
18
16
14

Lenght of Spring
(om) |
=

O N & O

10 20 30 40 S0

_~—
4]

ffiass ¢

Score

19

57




34.

(a)

(b)

Some pupils went to the eco-garden to0 conduct an experiment. They collected
$ome data with datalogger and recorded the readings in the table betow.

Characteristics

Measuring : l Measuring :
ai) ( y 1 (i) (
Time from start Readings taken (lux) Readings taken (°C)
{seconds) d g
G 80 000 36
30 95 000 | 40
60 100 000 41

What characteristics of the environment did the pupiis measure ?
Write the correct characteristic in the table above. (1m)

Based on the data collected, what is the relationship between the two characteristics

‘mentioned in part (a) ? (1m)
v

20

Score

143



(b)

A garden is infested with two bugs, X and Y. A farmer carries out a test by putting
100 of each type of bug on each of the three simitar smail plants and sprays the
same amount of different pesticides, A, B znd C, on each plant.

The following is a record of what has happened after three days.

um_i#?&:ﬁmber of bugs Killed by the pesticide
BugvX B;Jg Y
Plant sprayed with pesticide A 100 20
Piant sprayed with pesticide B 30 80
Ptant spray'ed with pesiicide C 75 ' 65

Which type of pesticides should he use if the farmer wants to kill as many bugs, X
and Y, as possible 7 (1m)

Later, the number of bugs killed by pesticides, A, B and C, on each plant decreased,
even though the amount of pesticide used remain the same.

Why did the pesticides lose its effectiveness on the bugs? (1m)

Score

21

%1




36.

(a)

(b)

The airconditioner of an empty car was turned on to the highest and the temperature
of the air in the car was measured after a while.

Temperature in N Temperature of the
the car was - surrounding air
24°C was 36°C

Where on the window would you find droplets of water? Draw the droplets of water
on the eniarged view of the window. (1m) :

Inside the car Qutside the car

Enlarged view
of window

Explain clearly how droplets of water on the car were formed. (1 Lr/n)

Score

22

bo



37.  David look three containers made of different materials A, B and C. He put the
same number of ice cubes into each of the container at the same time. He
measured the time laken for the similar sized ice cubes to melt.

Container with
material A

The resulls were recorded.

T
ll‘l‘l‘t‘l‘l‘l‘l‘l‘l tll‘l.ltl|I

T

1|
ey
RN

.............

Container with
matenal B

(308 £00D

' "

Material Time taken to melt
the ice cube
A 1 h 10 min
B 56 min
c 2 h 25 min

(a)  Which is thelbest malerial

Container with
material C

to nreventlthe ice cubes from melting most quickly?
Explain your answer cleatly. (1m)

(b)  Which material is best used to kée‘p hot waterfor the longég¥period ? Eipléfn‘ your

answer clearly. (1m)

23

‘Score

b!




38. John made a toy as shown below.

matchbox —

rubber band plasticine rolier

The toy moved when John twisted the rubber band and released the toy on the fioor.

matchbox plasticine . rubber band

()

John was given the above three object. Which object should he use fo add on to his
toy so that the toy would move further 7 (1m)

(b) Explain your answer for part (2). (1m)

{c) Write down the main energy changes that took place when the rubber band was
twisted and the toy was just released 7 (1m)

energy erfergy eltergy

Score

24
G



3S.

(a)

(b)

Tom places a strong bar magnet 5 cm from a nickel block as shown in the diagram
below and record his cbservation.

Nickel! block

What will Tom observe ? (1m)

Name thelforcelinvol¥ed in the observation made in (a). {1m)

Whalt is/are the other force(s) also acling on the nickel block in the observation
mentioned in pary/{a) ? {(im)

Score

25

63




40.

(a)

(b}

fn an experiment, there were 2 different surfaces namely carpeted surface and
marble surface. A metal ball rofled across the 2 different surfaces when a similar
force was exeried on the ball as shown in the diagram below.

O — surface

The results were plotted on the graph below. The 2 lines, A and B represent the 2
different types of surfaces.

. F
Distance
travelled
{cm)

4 -

Time (mins) -

Name the force that moves the ball forward. (1m})

Which one of the fines (A or B) represents the capeted surface ? Give a reason
your apswer. (1m)

Score

26

(3



41.

@

{b)

v P
3 gl E

He collected some dala on the temperature at the two locations and the rate of

transpiration for each plant. The readinqq were recorded in the table below.

' JLH\‘;

Ahmad carried out an experiment

{5 255 &‘ :o.g.

o
‘*‘?’:‘?"

it
T
—>location A

He took 2 identical pots of plants and ptaced them in different locations namely A
and B in the garden. He gave each plant an equal amount of water and left the two

pots in the garden for the same duration of time.

>~ {ocation B

_ o Rate of transpiration |
Temperaiue: {°0) {cm®min ) i
Time from start Location A Location B Location A | Location B
{minutes)
0 33 28 0.07 0.03
60 33 29 0.07 0.03
120 34 28 0.08 0.04

Help Ahmad to consider the following varables listed in the table below carefully to

ensure that the experiment is a fair test.

Put a tick (V) for the variable(s) that must b kept the same. (1m)

Variables To keep the'same - To change
Size of pot \
Type of soil \

Amount of soil

AN

Location where the
pot is placed

What is the aim of his experiment ? (1m)

27

Score

T
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Susan wanted to find out the preferred fiving conditions of 3 types of organisms (X, Y
and Z). The 3 organisms are found in abundance in their natural habitat. She
divided a tray into 4 sections (A, B, C and D).

First, she covered one half of the
tray with black paper.

in shade in light

in shade  inlight
with moisture “with moisture

Then, she put some water to keep haif

the shaded and lighted area damp. centre

inshade /in light )
no moislure%o moisture

She put the same number of each organism in the centre of the tray. After 10
minutes, the number of organisms found in each section of the tray was counted.

' Section A B c D
Organisms
@ 2 0 3 C7
Y 5 15 0 2
Z 20 2 o g

From the results,-which .organism(s).islare{rﬁb’st}liké-lyﬁtb be affected if the tray is
completely covered-in black paper ? (2m)

Score

28

b



42.  The organisms were returned to their natural environment and the rainfall in their

environment was irack over a period of time.

Number ijL
organisms
z

Amount of rain

n the population

{b) Which organism(s) isfare most likely _*_o_:a,xperience a decrease i
size? Explain your answer clearly. (Zm)

Score

29

&1




43.

An equal amount of three types of soil E, F and G are given in an expenment. You
have to carry out an experiment to find out which type of soil is the most porous.

\\ ,L_ filter funnel

measuring cylinder

l]lllli.ll‘ﬂutu;{

|

Using only the three types of soit, £, F and G, water and three identical set-ups (as
shown above), write down the steps below on how you would carry out the
expenment. {3m)

Step 1 has been done for you.

Step 1: Put soit E into the filter funnet of one set-up.

Step 2 :

Score

30

%



Name : Class: P

This question replaces the original question 43.

Staple this piece of paper as the fast page of Booklet B.

43.  An equal amount of three types of soil E, F and G are given in an experiment. You
have to carry out an experiment to find out which type of soil is the most porous.

cotton wool A ; ux

measuting
cylinder

set-up’ beaker

stop-watch

Using only the three types of soil, E, F and G, a beaker, 200 mi of water and three
identical set-ups (as shown above), write down the steps befow on how Yot would

camy out the experiment. {3m)

Step 1 ha_\s been done for you.

Step 1 : Put soil E into the filter funnel of one set-up.

Step 2 :

Score

63




44

Complete the flow chart. Write the properties of matter in the boxes provided.

{(2m)

[ Cookinw

Water vapour

Matter

l yes
_ . yes
Property 1 : —— | Walter vapour

Jre
Property 2 : I yes ; Wood

l no

Cooking oil
Score

31

“1%




45.  The diagrams below show the different systems in the human body.

(a) Write the names of the system in the box provided. (2m)
T —
IR

N
N

A S+
: L,
Fn
i
)
: =
. d

———

syStem \ system
\q
\L
. x’
1
system system
hour ?

Write down the system(s) needed fo help Danny o jog in the park for an
(im) '

(b)

Score

L]




46. The diagram below shows a ring magnet hanging freely from a spring. When an
object was placed under the ring magnet, a different observation was made.

Before After
el )

e e
% Length of spring = 1 Length of spring
was 6 cm -

% = became 3 cm

—Object A

(a) The original iength of the spring is 4 cm. When the ring magnet is attached to the

spring, the fength of the spring stretches to 6 cm. Whatis the force that is pulling the
spring down 7 (1m)

(b} Explain clearly why the spring compressed when Object A was placed under the ring
- magnet ? (2m)

End Of Paper -

Setter: Mrs Michelle Tan

‘Score ; A
33 : 3

1




Nan Hua Primary School
Primary 6 Science SA1 (2008)

AL

Qn no. Ans Qn no. Ans Qn no. Ans

1 1 11 2 21 1
2 2 12 3 22 3
3 3 13 3 23 4
4 4 14 2 24 4
5 4 15 2 25 2
6 3 16 3 26 2
7 4 i7 4 27 4
8 3 18 4 28 2
9 Z 19 3 29 3
10 Z 20 2 30 4

3la. B

31b. G

3 E

31d. C

32a. Gravitational potential energy.

32b. Kinetic energy, gravitational potential energy.

32e Place ramp at a higher position before it was released or make the ram heavier.

33a. The original length of the spring is 6cm. i

33b. ., . TSRS R

34a. i) Amount of light
i)  Temperature

34b. The amount of lighii, the higher the temperature.

35a. Pesticide C.,

35h. Some of the bugs managed to develop immunity to the pesticide, so the pesticides lose

its eifectiveness on the bugs.




36a,

36b.
37a.
37b.
38a.
38b.
38c.
39a.
39b.

39¢,

49a.

40b.

41a.

41b.

42a.
42b.

43.

44. 1)
44.2)

Water vapour in the surrounding air (36¢) condenses when they touch the cool
surface of the window, forming water droplets.

Wiaterials C. The ice took the longest time to melt in Container C. Material C is the
poorest insulator of heat so it will gain heat most slowly.

Material C. It is a poor conductor of heat so it does not allow heat from the hot water
to travel through it quiclkly.

Rubber band.

The rubber will be thread through the plasticine roller, and when two rubber bands
are twisted, there will be more elastic potential which will convert into more kinetie
energy when released.

Elastic potential energy- Kinetic energy- Heat energy

The nicke! bloek is attracted by the magnet.
Magnetic force.
Frictional force and gravitational force.

Pushing force.

A. Travelliug in the same amount of time, the metal ball will travel less on the
carpeted surface as there is more friction between the carpeted surface and the metal
ball than the friction between the marble surface and the metal ball, so A represents
the carpeted surface.

Size of pot: To keep the same

Type of soil: To keep the same

Amount of soil: To keep the same

He wants to find out if the temperature of surrounding affects the rate of
transpiration,

Organism X, Y
X because when rainfall increases, X decrease. In experiment A, X is mostly found in
dry parts.

Step 2: Pour in 60m of water using the beaker.
Step 3: Record the time taken using the stop watch collect 20ml of water. (Amt can

vary)
Step 4: Repeat steps (1) to (3) for soil F and G

No Definite volume
Definite shape




45a. i)

45h.

46a.
46b.

Respiratory
Circulatory
Muscular
Skeletal

Muscular system, skeletal system, circulatory system, respiratory system.
Gravitational force.

Object A is a magnet. The like poles of the magnets are facing each other, so they
repel the ring magnet moves up and the spring compressed.




